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2.2

a)  Three reasons that one would implement a variable using a register are:

· Registers have faster access than using memory

· Can provide mathematical operations on registers

· Registers can be used to do indexed registering

b) Three reasons one would use the stack to implement a variable are:

· Stack is global and can be accessed from anywhere in the program

· Stack can store registers  variables when going to a interrupt so the microprocessor can put the correct values back into the registers when retuning from a interrupt
· A stack can store values longer than 8 or 16 bits
c) Three reasons one would use the RAM to a variable are:

· Ram can be accessed from anywhere

· Variable larger than 8 or 16 bits can be stores

· In RAM you can specify a specific address for the variable to be stored

2.3

pula
loop
ldaa
Adstat


anda
#$80


bne
loop


ldaa
Adr1


staa
result


ldab
Adr2


aba


staa
result


psha
result

%In main loop


pula

2.5

Part a)





Global RAM
Stack RAM

EEPROM

Object

0x0000-…
…-0x00FF
0xE000 to 0xFFFF
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Part b)                                                                


Data
RAM

text area ROM


Stack Area
RAM
	

	X2

	X1

	

	

	X3

	

	_add 3

_main

	SP
	
	0,X

	X
	Y1 of sub
	2,X

	
	Z1
	

	
	Return addr
	6,X

	
	Z2
	8,X

	
	Z3
	Not Accessible

	
	Y2 of main
	























